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~ G20 Emlazn 620 laan 630 @ 11956
'> - #IMTR
BIKN 1T AR
&) fo——— 110
?é"% o | 1750 BT 500
11 kv 7014 mmemmees
# 55 #5 5/5 FA L nTie
£9.k 7030 89.k% 7110 11.85k:
---- normal open
1 CES FF1 feeder
E30%LT 530|510 620|760 wmmr 120 F#1 2 11,95k
#ZMT oG 527 11.95k
r OG 5275 BIKMAT Ak
Tk 780 N F#2
Bk TRI0% PF2
3999s
PFZ feeder
1780 B40E1 11.95kY
11 kV 7012
- |l b Lrrrr e Lol -
5 1.#750 51MN-SPAJ140C SPAJ140C_NI TD=0.050
5 ICTR= 800 Tap=05A Mo inst. TP=0214s | | ‘ |
g =2088.0A 1= 009 H 1
E
c 7 2 #35/S 620 51N GRL GRL-IEC_NI TD=0.180 7
o TR=200 OTap 0.5A Mo inst. TP=0 770351
NI 1= 2088.0A T= " 0.40s——+ 1 S
D 4 3 #QSIS 630 SINLGRL GRL-IES_NI T 4
S o3 TR=200 OTap 1.5A Mo inst. TP=0 85 3
R
2 |4 #2545 820 S1M-GRL GRLAEC 290 2
1 =200.0 Tap=1.54 MNoinst. TF=1
Pl T=20882AT= 103s
1 i 1
7 6 #15/S 610 5TN-SEL SELZ0¢lECS| TD=0420 = — 7
5 CTR=240 0 Tap=15A Mo inst. TP=17975s] | | | I 5
= 20884a T 164 P ——11H =
= T LS | N 4
P — 7. EP/S 520 51N-SEL SEL30cECS| TD=0480 | 3
| CTR=4000 Tap=1A Mo inst. TP=2 0543
3 |=2088.6A T=_ 2.00s 5 #1S/5 N-GRL GRL-IEC_NI TD=0380,_| | | 5
Fault Description: | CTR=2 A Mo inst. TP=1 6262
LG Close-in fault on: . I= 2038 5
1 #35/S B9 KV -#110 11980y 17 1 :
—— with end opened ||} | e ——
I N
o7 T T LI A o7

Bl 12 #3S/S 1 R#750-#1MTR & =

FLAREEN D

2

ol kAR RS R R0 Y AR

T € 6736 8



3.7 P/S#620-5IN 15 % K =43 el tihit -
e prg B Prs#IBUS  EH P/S#2BUS
161 K 7000 £9 kv 7010 B9k 7011
-4 #1 55 #2 8/8 #5/3
#‘IMTr DG 4.3 59 kA 7020 B9 kv 70BD £9 ¢ BIB0
IBIkWBBkV J0G 190s ol 9999s 59995 59995 99995, 99993 #10
B e @ einfen 20 |ean e L
- - #IMTR 99995, 99995 F#1
g [0 rela DG 3.78s BRIV I g 11 95k
161 v | 1750 BT 600
Mmeveorld o s “
# 5/5 #5 515 00Tie
B9.kv 7030 B9k 7110 namal open
|, 99995 39995 | 99933 9999, 9999s 43w PF1 fasdar
B30HL 530 510 &20 | 760 120 gomgs P12 11.95ky
. 06 4575 | BT 4k 1195k
760
IBIkWBSI-(\/ -r
ERTRIO%
o rais 99993 g999s | AN Wl
LaERTTTT PF2 feeder
540 4
1780 B40E 11,25k
‘I‘I.kV 7012
50 e 0
A0 | I N I N I A A | N N N A A I | A0
T 1. FAP/S 620 51MN-SEL SE B ECSI T0=0 80/ 1]
30 TR=400.0 Tap="1.A No inst. TP=2.0543 30
|= 2267 2AT= 190 I ‘ i I I
20 - — 20
B 2 600 51N-CO-8 CO-8 TD=4000 | |
! CTR=400.0 Tap=1.4A MNoinst. TP=1.6327s
1= 11468 04 T= 3785 L
S 10 T 1T 1717 | N T T T | - 10
E 3. EPS 7505 1MN-CO-8 CO-8 TD=2.000
c o7 CTR=400.0 Tap=15A Mo inst. TP=0_ 76115 v
S I= 1147 .9A T=4.61s| T I 5
I ‘m [ T T T T 17
D 4 I I I I I I I I 17 I I T 17 l
g 4 FEP/S 760 51MNCO-8 CO-8 TD=2.000
S 3 TR=400.0 Tap=1.54 No inst. TP=0.7511 3
Fault Description = 1123.2A T= <4905
2 LG Close-in fault on: 1] 2
EE PIS#IBUS B9, kW -#15/S B3 kV
with en pene |
1 I 1
7 L 7
5 — 5
4 4
3 o 3
2%, P Erl L R % > .
Bl 13 7 P/S#620-5IN 3 & H % 2B 2 AL % 153 ¢ AE
4.7 P/S#620-5IN &% % T b sl fickt » 7 P/S#1IMTr.-#750 N-1 o
= Pis T Prs#IBUS  BF PYSHEEUS
161 b 7000 B3 kv 7010 B9k 7011
#1 5/8 #2 55 #3 5/
#IMTE, remmmmmeew = B3 kv 7020 B2k 700 BS kY B3E0
e 750 J0G 3135 ol oeess 99939, 9999 99995, 99995 #10
[~ T ] 2 620 |e3n P R M iy
‘ - - #IMTR 9g99s  F#1
ggsn |- IS 99599 B9k 1R 11,95k
161 jov | 1758 BT B00
ey e
#15/3 # 5/3 #0 200Tie
B9,k 7030 B9k 7110 135K ormal open
| o995 9999 |, 9999s 39995 9999s  q3sv 9999 |7 i BF1 feeder
B304L 530|510 520 | 760 120 aoogs 12 11 85k
H2MITT 0G 4.975, | . BAkWITT Ak 11,95k
TTiREy 760 ;
z EEETRIO%
93995 95995 kv
o rela fpn 40 l PF2 feeder
1760 B T2 11,98k
1.k 7012
w0 e e
40 'y ] O A B 40
30 1 EAPY/S 620 51MN-SEL SEL®o0cECS| TD=0480 30
CTR=4000 Tap=1.A Mo inst. TP=2 054
2 AT N - 2
1 } C 060
S 10 10
E
[o 7
S 5 3 EEPJ/S 760 51M-CO-8 CO-8 TD=2.000 5
[ P 5 [CTR=400.0 Tap=1.54 Mo inst. TP=0.7611 4
D 1= 1159.85 T= 44
S 3 . a
Fault Description:
2 1L G Close-in fault on 2
EH P/S#IBUS B0 kW -#15S/S 89 kv L
with en pene:
]
1 RS 1
7 7
5 — 5
4 4
3 . 3
DR BTIRT S o
B 14 P/S #620-51N Hed a5 LB 2 e 5150 0 SE

KR AT

39

2—'737 F‘E I"" F$ 7 A
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5.7 P/S#620-5IN 15 % K =43 etk > 7 P/S #2MTr.-#760 N-1 o
R B Prs#BUS B Pro#zBUS
151 1 7000 B9 kv 7010 3Lk 7011
- #1 55 #2 548 # 55
w28 AT B9k 7020 B9 kY 7060 B9k B3A0
; 5210;(0\5'%?‘\; 750 G 307 9999 o990 | oooos o999s | 999G w10
~ R 520 esn B0 g o T oERy
-z - #MTR F#l1
e | o relay 05 3.565 Bk 11 2k 11 85k
T80 e | 1750 B T1 00
11k 7014 R R -
O—F # 5/5 # 5/3 #A oTe
B9.kY 7030 69k 7110 Tkl open
9999 | 9999¢ 9999 9999 g3y 9999 PF1 fesder
530|510 620 |7e0 omm 1D — ngsw 11.98kY
#2MTr. . Bk Ak
1B )
4 ” EEITRIO%
99995 9999, 1. RVI
CRRRREEEEEEEEEE LS I [ [ PF2 feeder
Fidil
1760 B0 11,95k
11k 7012
o HHHHHHH I —— - o
40 \ . - 40
30 i 1 EEIPIS 620 51MN-SEL SEL3xcECS| TD=0480 30
A\ CTR=400 0 Tap=1_A Mo inst. TP=2 0543
& TR &
1 2 B00S1MN-CO-8§ CO-8 TD=4 000
510 CTR=400 OTap 1.A MNoinst. TP=1.6327s 10
= I=1181.2A T= 3.86s - H—F——1
c 7 L s et o o et By e 7
O 3. EEP/S 750 S1M-CO8 CO-8 TD=2.000
M2 L CTR=400.0 Tap=15A No inst. TP=0.7611 5
D 4 = 1183 2A T= 4.24 4
S 3 Fault Description: “n a
LG Cloge-in fault on:
2 H Prs#BUS B3 KW - #1 SiS o kv L 2
with end opened.
L
1 B 1
7 7
5 — 5
4 4
3 - 3
P -2 4L '
Bl 15 ¥ P/S#620-5IN $:b £l x 5Ll 2 EE A ME
(7)69KV 7 P/S~ #4S/S ~ #5S/S L HH#HT60-#2MTr A B 2% T 420 st
1.#5S/S #760-51N & % 2k T b st > 200Tie & F 7B -
= pis ;q: f\is;éwwauus B P/S#2BUS
11 w7000 ) B9 kv 7O
- # 55 # 55 # 5/5
AL (G B.335 2 kv 7020 EQ.I/]V?'EIED 59,k 6360
el 559995 9999s | 5990s w10
% 520 Emlazo 520 Isau 830 |7=0 A 11.95kv
* - #IMTR F#11
() [Llorete 9999; BakW 1 AR 11,95k
ig1 e | 1750 T 800
vt e -
w58 # 5/3 #20 200Tie
59k 7030 B9k 7110 1195k narmal opan
oG 1.98s PG 070506 0.39,1,06 009}y PF1 feeder
GI04T g30 [510 B20 |7y BO5E@EE 120 Fi#t12 11350
#2MTR 39995 1) oepy
ﬁQMTr 0G 6645 N Bk 4k
a0 959995
BTy - Pa—
| 11k
S IEs l PF2 feeder
1760 E=Rv] 11 BEkY
11k 7012
51U e B e e e B e B u
E 1 T N | | 1T T T 1117
[ ! - T
o v 1 #7860 S1MN-SPAI140C SPAI40C_N TD=0 0501
N v TR= 800 Tap=05A Mo inst. TP=0 2145/ 5
o4 v 1= 1867.9A T= 0.0 H ——+1 4
S 3 T 1T | 1 3
2 #5545 620 51N-GRL GRLIEC_MI TD=0.1
5 CTR=1600 Tap=05A No inst. TP=07703s | | | 5
I=1367.9A T= 03%s 1] [T
il |
3. #45/3 610 51M-GRL GRLIEC_MI TD=0210
1 CTR=1600 Tap=15A Mo inst TP=0 89875 1
1= 1863.04 T= 0.70
7 7
5 . 5
4 o - 4
3 = 3
Fault Description
2 1LG Close-in fault on: 2
#5515 69 kW -#120 1185k 1 T
L with end opened
’ ™~ NN ’
| I N N B
H N I I N I
—~—— LI L L T —~——
% 4 . Rl L
Bl 16 #5S/S#760-5IN 3 #fq % LB % e S0 d S E
o, N 4
NS Fuig ?., b %'ﬁ‘vﬁf‘ﬁ F%

T E ¢ ) 36 4



533
L5

2. #4S/S#610-5IN & ¥ X Ti%¥ &

Sd N

7 P/S#640 v &% 7 N-1 o

41

H Pis#1BUS  F Prs#aUs
E PR’\? 000 Bk 7OI0 BELKY 7011
-4 #os #2 5/ # 5T
M DG 5155 B9,k 7020 B9k 7080 B9,k 360
2oma, | 90995 9999s_| 95995 o
— 520 610|620 620 &30 630 |7=0 .. 11,95k
Mo relay 0G 4.79 ; ; N Fe
o rela 5 AT 11,95k
Sﬁ%& 1750 H T 500
1.k 7014 s - R —
B9 kY 7030 B9k 7110 1195k |
| 06 1015 ge9ss |.0G 067s olo 99995 g3y gmggg [T MOTARE PET foder
B3T4L ] e R AT L i 11,98k
e 0G 5.3 . BIIVITT kv 11.95kv
T TehEy 780 o
-’ EETRIO%
T kY,
MLl - PF2 feeder
1760 11,95k
11 kwmz
S i
E
c 7 T 7
0 L T H#ISIS 610 5IN-GRL GRLIEC_M TD=0210
N 5 k 1) CTR=160.0Tap=1.5A Mo inst. TP=058937 5
D 4 |= 2067 TAT= 0DETs 4
2 EEAERE :
2 BEPIS B30 51N SEL SEL3wcECSI] TD=0.240
2 CTR=400.0 Tap=1.4A Mo inst. TP=1.0271s 2
= 2067 9AT= 1015
Fault Description:
1 1LG Close-in fault or: L 1
#AS/S B0 KV_#55/5 B9 KWL
7 with end openad. ] 7
5 R 5
4 Sunm- 4
2 2
Bl 17  #4S/S#610-51N £ b i 4 B 2 g 2 % 53 ¥ 5 H
3H#4S/S #610-51N & % 2% T He b &Ikt » 7 P/S#630 =aiz 3 N-1 -
B P/S#1BUS  FH PrSigBUS
E Pkf\? om0 BV 700 mELkv 7O
#5/5 # 5/5
#mm 0G 5155, 1™ Efé S{f/smm 9.k 7080 BS. kY BIE0
2o, | 9990s gugds | 9999s 9999 | g9gas o
~ f20 610 | 520 B20 |&30 B30 |7s0 A 11.95kY
N ; 0G 4.53 ’ 7 o
o rela | 7 4.005] BN Ak 11.05kY
%ﬁ?\)f 1780 B T1 500
Tk 704 # 5i5 # 5/5 o T
59Ky 7030 B9,k 7110 11,28k |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, o6 0s7s ol 39995 q35v  oggs [T MTTEOREN BF1 feeder
Ba04T e o™i EFE w0 ey gm0 ame T2 1195k
#2MTr oe 538¢ et e 11 95k
? ERETRI0%
Mo rels 0G 1.01s  9999g 1.k
1760 B40E9 540 I 1P1F§ Sfiider
1k 7012
= I O O 1 "U
E | | | | T | [N 11
c7 2 [ T T TTTT T 11 7
1 1 #45[5 610 51N GRL GRL-IEC_M TD=0210
g 5 (AN CTR=160.0 Tap=1 5A No inst, TP=0.89875 5
0 = 206854 T= 067111 1
D A e 4
503 A 2 HPIS 640 51N-SEL SEL30IECS] TD=0240 3
CTR=400.0 Tap=1.A Noinst. TP=1.02715
I=20687AT= 101s
2 Fault Description: 2
1LG Close-in fault on
#ASIS B9 KV-#55/5 69 KV 1L
1 with end opened. n 1
i 7
5 e 5
4 Pl — 4
a el
Bl 18 #4S/S#610-5IN 423 i s AR 2 WL * 1o d AR
AL € € T 36 69KV = =tk i T T ARE LN F I
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4.7 P/S#630 ‘=& SIN & B 3% 2455 st o

E P FH P/S#BUS  HH P/S#2BUS
B9k 7010 B9k 7011

161 kY 7000
B # 55 #2 53 #3553
#’IMTr 06 4345 B9k 7020 B9,k 7060 B9.J 6360
|, 9999: 9999s_| . 9999 99995 | 9999s
ey N ] #110
520 510|620 g20 &30 630|740 11.95Kky
- -¥ -
FHIMTR Fi#11
) o rela DG 3.9689 BEKYA1 4R 11,98k
i
161 v | 1780 T B0
1.k 7014 joeemeeneas “
# 5/5 # 55 #MA 00T
69,k 7030 B3.kY 7110 - spen
99395 99395 § 99995 43¢y 9999 Cn P feader
30 510 620 |7gp om0 g5 T 11 98k
#QMTr Bk 1 Ak
99995
1E1Wf'89k\/
EEETRI0%
| LY
olEE T T l FF2 feeder
1760 ' 11.95kY
11.k\/?012
o o — e
40 S — ——— 40
20 4 1 EEPSS 620 51N-SEL SEL ZocECS| TD=0 240 30
TR=400 0 Tap=1.A No inst. TP=1 0271
- BN 0
2 B00 51N-CO-8 CO-8 TD=4.000
s 10 CTR=4000 Tap=1A Mo inst. TP=1 63275 10
E 1= 1118.94 T= 39651 ———
c 7 1 ) B I ] —— 7
o 3PS 750 51N-CO-8 CO-8 TD=2 000
N5 b ICTR=A400.0 Tap=15A No inst TP=07611 5
D 4 o L Lo e s e s 4
S 3 F T T | I | 3
4 EEPSS 760 51N-CO-8 CO-8 TD=2 000
2 Fault Description CTR=400 OT@):1 5S4 Mo inst. TP=0.7&11s 2
1LG Close-in fault on 1= 1123 2A 7 4.90s
H PIS#IBUS 69 KV - #4 SIS 69 kv 1L
with end opened
1 h=R, 1
7 7
sttt P e e o e e I I
4 ] 4
3 | 3
% z 4 1
B 19 7 P/S#630 ‘=4 SIN 25 <M & 2 FIRL % 1223 4 A
B , B oo o PN
5.7 P/S#630 ‘=& S5IN -8 3% T 83 sxfpfigt > 7 P/S#750 s iz § N-1 -
H P B P/S#IBUS  FE Pref2EUs
151 ko 7000 69 kY 7010 B9k 7011
-4 # s # 3/5 5 s
£9. kY 7020 69 k' 7080 B e B3R
| 99995 9999s_| 99595 9999s_| 99995 10
[~ f20 610 | 620 620 |&30 630 nlrsu . 11,95k
Y Y
#IMTR Fl 1
saen |- 0G 3.72s Bk 1. ARV 11,35k
5
161 kv | 1750 BT 500
1.k 7014 fereenaes -
o—l— 4 5i8 # S/5 M SonTe
9.k 7030 69k 7110 V15K ormnal ooan
06 1573 ol 9998 9999s J_ 9999s 433y 9999s |7 ? BF1 fandar
T san g0 i P A S s F 11,95k
T 0G 4275, | BAII T4k 1185k
TE TRy 780 . i
? B TRIO%
99995 9959¢ :
o rela o ===
PF2 feeder
1780 B T2 8405 B0 11,95k
11k 7012
e e e e e e e e e e e e 20
40 | ) s | 40
a0 I Y B R R I [ a0
EHIP/S 620 51N-SEL SEL 30c ECSI TD=0 240
20 R o 0 Tap=1.A Mo inst. TP=1.0271 20
=riessare e I [ [
2 éOOISIII\L(IZE‘D—IS IC"O-‘SI lFD=4IOOO‘
510 TR=400.0 Tap=1.A Mo inst. TP=16327 10
E I*11553AT* 372 i N —
c 7 1 - F——— 7
) 3. /S 760 51N-CO-8 CO-8 TD=2.000
N2 &5 | CTR=400 0 Tap=1 5A No inst. TP=0 7611 5
N B 1= 1158 8A T= 4435 ||| =
s 5 NN a
Fault Description
5 1LG Close-in fault on 5
Ny B PIS#1BUS 69, kV - #4 SIS VA
with end opened.
1 1
T T
5 = — 5
4 4
3 || 3

B120 ° P/S#630 3 ok 4 B2 HaR L X120 4 AE

BOKV = = & LB T in T AL D 7 ib T E ¢ 7] 36
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. 2 2 sog3r Ja—eo
6.7 P/S#630 =iz q SIN % K T4k otk > 7 P/S#760 N-1 o
s B P/S#IBUS  EE P/S#2BUS
151 1o 7000 9.k 7010 B8 kY 7011
- # 5/5 #22/3 # 5/5
wnry, P8 A1 B9k 7000 3k 706D B9 kv B30
oo 750 99995 o999s_|_ 99995 9999s_|_ 99995 i
[~ &20 510 | 520 520 Iaau 530 |7sm A 11 96Ky
- - #IMTR Fa1
casn Mo relay 9999s =L N ETRY 11,95k
61 Jev | 1750 B T 600
11 kv 7014) rmmeennes =
# 55 # 53 FA L oTe
B9k 7030 69,k 7110 R open
p? 19545D .|, oe09s 98995 ) . 99995 q3fv  9939s - PF1 feeder
G300 J510 620 120 1195k
#2MTr - BN 4k b R
16Ty 2
b ? EERTRIO%
99995 5999, :
R PF2 feeder
1760 T 640 640 11,985k
11 kY 7012
ou ou
40 40
30 \ 30
20 1. FPYS 530 51N-SEL SELZ0elECS| TD=0.240] || 54
CTR=4000 Tap=1.A Mo inst. TP=10271
1= 1179 0A T= 15457 —t—
CCCOenr .
g 2600 51M-CO-8 CO-8 TD=4.000
c 7 1 CTR=4000 Tap=1 A No inst. TP=1 63375 -
I= 4.5A T=0999s] || I |
NS . HEH— m——. 5
D 4 3 3 HPSS 750 51N-CO-8 CO-8 TD=2 .00 4
S 3 CTR=400.0 Tap=1.5A MNo inst. TP=0.7611 3
I=1183 54 T= 423
2 2
Fault Description o
LG Close-in fault on:
1 EHPISHIBUS 69 kV-#4S/S 69 V1L 1
with end opened
7 7
5 - I 5
4 4
3 L 3

B 21 7 P/S#630 =&z &

(> )69kV i $#750-#IMTR £ #760-#2MTR £ % 3% %40 F¥ 4234 &

1.PF1(Power Fuse 1)#& % X T 4p FF ¥ &

refip i LRI 2 RS R 1A 0 SR
< R HHE

e[ ikt 0 200Tie & § 7 FF -

i Ris A PiS#1BUS  BF PySHzBusS
161 1w 7000 B3k 7010 3. kv 7071
o # s # s # 5/
#wm B3 kv 7020 B9l 7060 9.4 5360
. oo 9g99s | o9989s  ogges 070s
151kw159kv . 4
520 510|620 520 |&a0 630|750
-» -
1) o
?E% e | 1750 B T &0
1.k 7014
# TS # 55
B9 kv 7030 Bk 7110 :
-1 normal open
o o] PF1 feeder
FANKT 30 SOMTR Fi#2 11.95KY
N BSR4k .92k
760
151kwsew B e
. 11.ka
B PF2 feeder
1760 BA0E B4 11.95KY
11 RV 712
=1
70 = 70
S50 S50
40 =i =0
20 W 20
zZ0 \Fj' 20
1.0 r°r12s5E
ZTR— 1.0 Minimurm melt
= 10 S{ ! 2 10
E 1 o
c 71— | TD=2.500 d
S = II?S[ T»=|> [s] ‘67 =] 3 -
= | I i a
S a | — 2
3. #1110 51-SEL SEL-YI TD—1.700
2 CTR=400.0 Tap=4 A Mo inst. TE=0.-4335 2
I=6719.8n T= 0565 | || | | |
AR [ \
14 #T50 51-SPAI140C SPAJT40C_MNI TD=0 120 1
[ CTR=3800 Tap=4.A MNo inst. TF=0 5564
S 1=11828A T= 0.70s [ [ !
s o ] 5| s
Py Fault Description —— T 1 Py
LG Close-in fault on T I
33— F#11 11 95kY - PF1 feeder 1 Sk - 3
 — wiith end o ne
2z B | 2
]
1 — 1

B 22 PF1 4p R #3 #<15

& €71 36

AR R RS R PR e

A 1B
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2.PF1 1% 8 3K T4p B 423 R > #3S/S #750-#1MTR i 7 N-1>F#11 44 d 200Tie

Ki¥ o
iz
EF P/S#IBUS FH Pre#2BUS
ﬁf;{smm 69,k 7010 9k 7011
et #1553 #2 55 #3 55
#1 T 63,k 7020 [=E] klv FOE0 53k BIB0
2000, 750 I
1B TRWEDKY -
520 &0 | &2n g20 Ip}au 11,95k
-4 0P 021s  F#l1
110 11,95k
?ﬁ%{} 1750 T 500 A T
] 11KV 7014 OP 0.35s EEE4P-119
o w4 5S # 55 #1120 200Tie
E9.k' 7030 69,k 7110 195K il mpen |
OP_2.885 3 OF 0.71sq3f+OP 0.58s P PE1 feader
FAnET 530 510 820 |+50 somTr 120 P F#12 11,95k
20T, BBk Ak " ggg\g/g
200N A 750 B s
1E1kaEBk\[AJW - A TRIO%
11k,
PF2 feed
1760 T2 BA0ES PF2 Tonor
11.ky 7012
=
70 A= 70
50 50
40 = 40
20| | 1.PF PF125E =il 20
———CTR= 1.0 Kinimum melt
2o ot T i >
2 F#1151-SEL SEL-El TD=2.50
CTR=120.0 Tap=5.4 Mo inst. TP=0 67865 2
S0 =es644aaT= 0215 ||| — 10
E 1T T T T =
c 7 T ] e 7
(o) 3. #200 S1-SEL SEL-YI TDO=0.700 I P! =3
M S CTR=400.0 Tap=5.A No inst. TP=0.1506 =
D 4| 1=65644AT= 0355 [ {1 f | 0 “
R e S SR~ :
4. #120 51-SEL SEL-WI TD=1.700 E
2 [ CTR=400.0 Tap=4.A Mo inst. TP=0.43855 2
ST TS T
1 5 #7560 51-5FAJ140C SPAI140C NI TD=0 130, 5 1
CTR= 80 0 Tap=4 A Mo inst. TP=0.5564
7 1= 1126.94 T= 0.71s 7
s N I R s
2 Fault Description:—— 2
2L G Close-in fault on
33— F#11 11 95KV - PF1 feeder 11 95k 1L | 3
| winenacpenea [ {{ | 1t =
5 Pl i o il [ 5
NI R .
T T T Tt I
2z %, e S R 4 2 L
Bl 23 PFl Ap s & A B 2 e S0 d SE
;2 P > | s A
3.PF2(Power Fuse2){& % % T 4p ¥ 5 sa ik » 200Tie &+ ¥ $7 B -
H Pz FH P/S#IBUS  BR Prs#oBUS
161 kY 7000 B9k 7010 Bk O
-4 # 5/5 #2 5/3 #3535
#IMTE 69k 7020 68,k 7060 68, B350
200 k%A 750 "
1B 1 kB - 4 #110
520 610 | 620 520 |eao 530 |70 11 85k
-¥ -
#IMTR F#11
cEn) BIkYA 1 4k 11.25kY
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